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!= dflnsfh{'g dlGb/ 3]/kvf{n ltpg] ufpF 80,000  

@= 3';fb]lv vf]b}gfy vf=kf=of]= u8]t 1,00,000  
#= vf]b}gfy cfwf/e't laBfno u0f]t u0f]t 1,00,000  
$= vfg]kfgL  t]lnufFp t]lnufFp 1,50,000  
%= dflnsfh{'g k|f=lj= kmlg{r/ vl/b 

/ lkmN8 hfln vl/b 

prfsf]6 1,50,000  

^= e}/jgfy dlGb/ ;fj{hlgs 

zf}rfno lgdf{0f  

d]NnfpF 1,50,000  

&= e}/jgfy dlGb/ 5fgf tfdfkq l;/f]8f 1,25,000  
*= kfO{k vl/b vf=kf= l;/f]8f ;Nof8L 80,000  
(= l;/f]8f l;df/b]lv 8o8fnL 8f8f 

/ rf}eUof;Dd kfOk vl/b 
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l;/f]8f 85,000  

!)= e}/jgfy dlGb/ efG5f3/ lgdf{0f t]lnufpF 1,00,000  
!!= cf]vn9'ª\uf Gjfnf] lgdf{0f l;/f]8f 80,000  
!@= ;fd'bflos ejg lgdf{0f yk d]Nnfp 2,00,000  
!#= e}/jgfy dlGb/  lgdf{0f yk t]lnufpF 2,00,000  
!$= dflnsfh{'g dlGb/ clylt u[x prfsf]6 5,00,000  
!%= nl6gfy dlGb/ lgdf{0f yk 3f]8]lznf 1,00,000  
!^= ;fd'bflos ejg lgdf{0f yk 3f]8]lznf 
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